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24. Which of the following events may lead to 

the loss of Indian citizenship for an 

individual? 

1. When an Indian citizen voluntarily 

acquires the citizenship of another 

country 

2. If the citizen has shown disloyalty to the 

Constitution of India 

3. If he is a minor whose parents have 

renounced Indian citizenship 

Select the correct answer using the code 

given below. 

(a) 1 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

 

25. Which of the following is/are the federal 

features in the Indian Constitution? 

1. Single Constitution 

2. Bicameralism 

3. Integrated judiciary 

Select the correct answer using the code 

given below. 

(a) 1 and 2 only 

(b) 2 only 

(c) 1 and 3 only 

(d) 1, 2 and 3  

 

26. Consider the following statements in the 

context of NITI Aayog: 

1. It is an extra-constitutional body. 

2. It provides both directional and policy 

inputs but not technical advice. 

3. It provides a collaborative and "bottom-

up" approach. 

Which of the statements given above are 

correct? 

(a) 1 and 3 only 

(b) 2 and 3 only 

(c) 1, 2 and 3 

(d) None 

27. With reference to the integration of erstwhile 

princely states, consider the following pairs: 

Princely State  Mode of integration 

1. Hyderabad : Referendum 

2. Junagarh : Police action 

3. Kashmir : Instrument of 

Accession 

Which of the pairs given above is/are 

correctly matched? 

(a) 1 and 2 only 

(b) 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

28. Which of the following pairs: 

Festival  State 

1. Ambubachi Mela : Assam 

2. Chaitra Jatra : Odisha 

3. Vishu : Uttar Pradesh 

4. Rangoli Bihu : Jharkhand 

Which of the pairs given above are correctly 

matched? 

(a) 1, 3 and 4 only 

(b) 1 and 3 only 

(c) 1 and 2 only 

(d) 2 and 3 only 

 

29. Which of the following statements in the 

context of the Comptroller and Auditor 

General (CAG) of India is not correct? 

(a) It is authorised to audit Contingency 

Fund of India. 

(b) CAG submits annual audit report to the 

President of India. 

(c) CAG compiles and maintains accounts 

of both central and state governments. 

(d) CAG is removed by the President on the 

same grounds and in the same manner as 

a Supreme Court judge 


